Regulation/Activity	Annual Respondents	Average Number of Responses per Respondent	Annual Responses	Completion Time per Response (Hours)	Annual Burden Hours*	Hourly Labor Costs (Incl. Benefits)	Dollar Value of Annual Burden Hours
U.S. Department of the Interior Regu	-						
DI Form 9008, "Federal Subsistence		sory Council Me					
Reporting	26	1	26	0.50	13	\$35.10	·
DI Form 9009, "Federal Subsistence		_				•	
Reporting	23	1	23	2.00	46	\$35.10	\$1,614.60
DI Form 9010, "Regional Advisory C		te Interview" (In					
Reporting	48	1	48	0.50	24	\$35.10	\$842.40
DI Form 9011, "Regional Advisory C		_					
Reporting	145	1	145	0.25	36	\$35.10	\$1,272.38
Petition to Repeal Subsistence Rule	s and Regulatio	ons (Governmen	<i>t</i> )	1			
Reporting	1	1	1	1.00	1	\$61.37	\$61.37
Recordkeeping				1.00	1	61.37	61.37
Propose Changes to Federal Subsis	tence Regulation	ons (Individuals)					
Reporting	35	1	35	0.25	9	\$35.10	\$307.13
Recordkeeping				0.25	9	35.10	307.13
Proposals for Emergency or Tempo	rary Special Ac	tions (Individual	s)				
Reporting	17	1	17	0.25	4.25	\$35.10	\$149.18
Recordkeeping	±1			0.25	4.25	35.10	149.18
Requests for Reconsideration - App	eals (Individual	s)					
Reporting	2	1	2	2.00	4	\$35.10	\$140.40
Recordkeeping	۷			2.00	4	35.10	140.40
Traditional/Cultural/Educational Per	mits and Repor	ts (Individuals)					
Reporting	4	1	4	0.25	1	\$35.10	\$35.10
Recordkeeping	4	1	4	0.25	1	35.10	35.10
Fishwheel, Fyke Net, and Under-Ice	Permits and Re	ports (Individua	ls)				
Reporting	7	1	7	0.17	1	\$35.10	\$40.95
Recordkeeping	/			0.08	1	35.10	20.47
Reports and Recommendations (Government)							
Reporting	0	1	8	1.00	8	\$61.37	\$490.96
Recordkeeping	8			1.00	8	61.37	490.96
Customary Trade Sales (Individuals)							
Reporting	1	1	1	0.17	0	\$35.10	\$5.97
Transfer of Subsistence Caught Fish, Wildlife, or Shellfish (Individuals)							
Reporting	1	1	1	0.17	0	\$35.10	\$5.97
Cooperative Agreements (Governme	ent)			1			

Reporting	1	1	1	4.00	4	\$61.37	\$245.48
Recordkeeping	] 1	1	1	4.00	4	61.37	245.48
Alternative Permitting Processes (G	overnment)						
Reporting	1	1	1	12.00	12	\$61.37	\$736.44
Recordkeeping	1	1	1	12.00	12	61.37	736.44
Request for Individual Customary a	nd Traditional U	lse Determinatio	ons (Individuals	)			
Reporting	1	1	1	2.00	2	\$35.10	\$70.20
Management Plans (Government)							
Reporting	1	1	1	8.00	8	\$61.37	\$490.96
Recordkeeping	1	1	1	32.00	32	61.37	1,963.84
Labeling Requirements (Individuals)	)						
Reporting	60	1	60	0.50	30	\$35.10	\$1,053.00
3rd Party Notifications (Individuals)	3rd Party Notifications (Individuals)						
Reporting	1	1	1	0.25	0.25	\$35.10	\$8.78
Recordkeeping	1	1	1	0.25	0.25	35.10	8.78
Meeting Request (Individuals)							
Reporting	1	1	1	0.08	0	\$35.10	\$2.81
Meeting Request (Government)							
Reporting	1	1	1	0.08	0	\$61.37	\$4.91
TOTAL:	385		385		281		\$12,194.40

		Average		Completion			
		Number of		Time per		Hourly Labor	Dollar Value of
	Annual	Responses per	Annual	Response	Annual Burden	Costs (Incl.	Annual Burden
Regulation/Activity	Respondents	Respondent	Responses	(Hours)	Hours*	Benefits)	Hours

Grade/Step	Hourly Rate	Hourly Rate w/Benefits
GS 5/5	\$24.76	\$40.11
GS 11/5	45.4	73.55
GS 12/5	54.42	88.16
GS 13/5	64.71	104.83
GS-15/5	89.94	145.70

### Support

# Tasks associated with hunting and fishing applications, permits, and reports

Data entry of harvest information

Administrative support for printing contract and mailing for applications and permits

Two staff members review of applications and issuance of permits

**Total (Common Forms** 

### **Support**

## Tasks associated with DI Form 9009 (3-2321), DI Form 9010 (3-2322), and DI Form 9011 (3-2323)

Nominations review panels involving 32 agency staff conduct applicant and reference interviews and evaluate applicants Six staff members coordinate work of 10 regional panels

Coordinator of recruitment and selection process

Interagency Staff Committee (10 members) evaluate information collected by regional panels

Federal Subsistence Board (5 members) evaluates the information makes recommendations to the Secretaries of the Interior a

### Six staff members evaluate, validate, and process nonform information collections

Federal Subsistence Board evaluates and decides the final outcome for nonform requests

#### **OTHER COSTS**

Newspaper, Radio, and TV Ads

Printing, Distribution, and Postage Fees

Travel (associated with recruitment and selection process)

Grade	Hours Rate		Total		
GS-5/5	20	\$40.11	\$802.22		
GS-11/5	15	73.55	1,103.22		
GS-11/5	2,968	73.55	218,290.46		
	3,003		\$220,195.91		

Grade	Hours	Rate	Total
GS-12/5	660	\$88.16	\$58,185.86
GS-12/5	290	88.16	25,566.52
GS-12/5	160	88.16	14,105.66
GS-13/5	490	104.83	51,366.80
GS-15/5	70	145.70	10,199.20
	1,670		\$159,424.04
GS-12/5	1,400	\$88.16	\$123,424.56
GS-13/5	280	104.83	29,352.46
GS-15/5	80	145.70	11,656.22
	3,500		\$164,433.24
	5,170		\$323,857.28
\$95,000			
33,500			
10,000			
\$138,500		TOTAL:	\$462,357.28